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Introduction
In last meeting, WF [1] on UE RF for 5G Broadcast was approved with the following options. One of the tough topics is related to how to specify ACS requirements. The following way forward was approved.

Option 1 (Nokia): -25 dB with frequency offset at 6, 7, and 8 MHz
Option 2 (Qualcomm): -33 dB with frequency offset at 10 MHz (same as the existing 10 MHz spec)
Option 3 (SWR):  -33 dB with frequency offset at 6, 7, and 8 MHz
Way forward:  Companies are invited to study options 2 and 3.  

In this paper, we’d like to provide our views about UE ACS requirements for 6MHz/7MHz/8MHz.
Discussion 
UE ACS is a major requirement to guarantee the system coexistence between two adjacent channels. When RAN4 specify this UE ACS requirement, the major factor which should be considered as the first priority is system performance instead of UE filter implementation. The logic is how we can design a UE to guarantee the adjacent channel coexistence not the other way around.
Observation 1: UE ACS is a major requirement to guarantee the system coexistence between two adjacent channels. RAN4 can’t specify this requirement only based on UE filter implementation.
Table 1 the ACIR result of different BS ACLR and UE ACS
	BS ACLR
	UE ACS
	ACIR BS-UE

	45
	33
	32.7342762

	51
	33
	32.9317087

	55
	33
	32.972684

	61
	33
	32.9931223

	42
	33
	32.4850306

	BS ACLR
	UE ACS
	ACIR BS-UE

	45
	25
	24.9567863

	51
	25
	24.9891047

	55
	25
	24.9956592

	61
	25
	24.9989092

	42
	25
	24.9142

	BS ACLR
	UE ACS
	ACIR BS-UE

	45
	30
	29.8647908

	51
	30
	29.9656391

	55
	30
	29.9862881

	61
	30
	29.9965516

	42
	30
	29.7342762



In table 1, we calculated the ACIR results based on different BS ACLR and UE ACS requirement. It can be observed that UE ACS requirement is the bottleneck of system DL ACIR coexistence performance. For 25dB UE ACS, even if BS ACLR is improved as 61dB level, the DL ACIR can’t be higher than 25dB.
Observation 2: based on the analysis above, UE ACS requirement will have a big impact on system DL ACIR coexistence performance. The system DL ACIR coexistence performance for 25dB UE ACS is much worse than 33dB UE ACS.
In last meeting, some companies commented that the deployment is well coordinated and there is no adjacent channels. If my understanding is correct, the so-called coordinated deployment and uncoordinated deployment are shown below.
[image: ]
Figure 1 scenario 1: the so-called coordinated deployment

[image: ]
Figure 2 scenario 2: uncoordinated deployment
For scenario 1 coordinated deployment, option 2 is enough to guarantees the coordinated two channels to meet the same coexistence performance as terrestrial network.
Option 2 (Qualcomm): -33 dB with frequency offset at 10 MHz (same as the existing 10 MHz spec)
For scenario 2 uncoordinated deployment, option 3 is enough to guarantees the coordinated two channels to meet the same DL system coexistence performance as terrestrial network instead of option 2.
Option 3 (SWR):  -33 dB with frequency offset at 6, 7, and 8 MHz
Proposal 1: Option 2 (-33 dB with frequency offset at 10 MHz (same as the existing 10 MHz spec)) can be specified for scenario 1 coordinated deployment. Option 3 (-33 dB with frequency offset at 6, 7, and 8 MHz) can be specified for scenario 2 uncoordinated deployment. The final decision should be up to the real deployment (coordinated vs uncoordinated) from operators.
Summary
Observation 1: UE ACS is a major requirement to guarantee the system coexistence between two adjacent channels. RAN4 can’t specify this requirement only based on UE filter implementation.
Observation 2: based on the analysis above, UE ACS requirement will have a big impact on system DL ACIR coexistence performance. The system DL ACIR coexistence performance for 25dB UE ACS is much worse than 33dB UE ACS.
Proposal 1: Option 2 (-33 dB with frequency offset at 10 MHz (same as the existing 10 MHz spec)) can be specified for scenario 1 coordinated deployment. Option 3 (-33 dB with frequency offset at 6, 7, and 8 MHz) can be specified for scenario 2 uncoordinated deployment. The final decision should be up to the real deployment (coordinated vs uncoordinated) from operators.
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